Final Exam Review 1% Semester Integrated Name

1. Evaluate 5j when j=7.
a. 35 b. 40 c. 12 d. 84

2. Sally wants to plant some flowers in a cube-shaped planter box. If one edge of the box measures 10 inches, how
much soil will be needed to fill the planter?

a. 1000in.” b. 100in.* C. 333in° d. 600in.*

3. Complete the input-output table for the function y = 2x - 3.

Input Output
2 ?
? 5
3 ?
? 9
a.  Input Cutput C. Input Output
2 3 2 |
4 5 5 B
3 4 3 3
i 9 il ]
b. Input  Output d. Input  Chatput
P | 4 1
4 5 4 5
3 3 3 3
] g 8 a
4. Make an input-output table for the function y = 2x + 4. Use x-values of 1, 2, 3, 4, and 5.
& | mputx [1]z| 3| 4] s C l mputx |1 2] 3] 4] 5
Output,y | 6 | & | 10| 12 | 14 Output,y | 6 | 16 | 36 | 76 | 156
b Mgt x [1 23] 4] 5 A [igutx [1]2[3]4]5
COutput,y [ 5| 7| 9| 11| 13 Output,y |5 | 6| 7] 8|9

5. Which function rule matches the input-output table?

Input, X 1 2 3 4 5
Output, y 7 11 15 19 23

a. ¥=3+5x b. y=3+4x c. y=4+3x d y=Z+4x

6.A bag of chips costs $2.33. Your total grocery bill, b, is a function of the number of bags of chips, n, you purchase.
Write an equation to represent this function.
a m=233h c. &

733 "



b. b_ﬁ d. &=32733
7

7. Which equation corresponds to the values in the table below?

Input, X 1 2 3 4 5
Output, y 17 26 35 44 53

a. y=8x+9 b. y=9x+7 C. y=9x+8 d y=10x+8
8. For which value of x is the relation not a function?

{(0,1), (x,0), (3, %), (2, 6)}

a. 1 b. 3 c. 4 d 6

9. Find the slope of the line passing through the points A(-1, 1) and B(4, -5).

a. 6 b. 4 c. 3 d 5
5 3 4 6
10. Find the slope of the line that contains (-8, 2] and (7, - 4).
a2 b. 5 c. 0 d. undefined
5 2
11. What is the y-intercept of the line with the equation 4x + 5y = - 108?
a. 12 b. 12 c. 27 d. 27

12. State the x- and y-intercepts of the line with the equation y=— Zx +4.
a. x-intercept: 4; y-intercept: 2
b. x-intercept: 2; y-intercept: 4
c. Xx-intercept: —4; y-intercept: -2
d. x-intercept: -2; y-intercept: -4

13. Find the slope and y-intercept of the line with the equation —%x + 3y =54,
a. m=73h=1% c. m=-3hb=-18
b. m=18h=1 d m=-18 b=-3

Consider lines whose equations have the form y = m x + 20. Find the difference of the x-intercepts of lines I,
and I, if their slopes are m; and m,, respectively.

14. Which statement is always a correct conclusion about the values of x and y in the function y = x— 3?
a. The value of x is always 3 less than the value of .
b. The value of y is always less than the value of x.
c. When the value of x is positive, the value of y is also positive.
d. As the value of x increases, the value of y decreases.

15.Write the polynomial so that the exponents decrease from left to right.
bx° — bx+4x" -2
& 4z 4+ 627 - 6x-2 C. 4z —fx" +6x+2

b. —244x° - fx+ 62’ d. 2-4x° 4 x- 6’

16. Find the degree of the polynomial —=3x* + 2x* + 7,
a. 4 c. 6
b. 1 d 7



17. A monthly phone bill, () . consists of a $28 service fee plus $0.13 per minute, m, of long distance calls, given
by the function &(m) = 2& + 0.13m.
Draw a graph for up to and including 120 minutes of long distance calls made in a month. Estimate the bill if 84
minutes of long distance calls are made.

a. C.
| i e e
50 oo m 50 o m
b. $20 b. $39
b. a. d
[ U'—t—!—l—t—!—l—t—l—l—l—t—l—r
50 o0 m 50 o m
.$4
b. $29 b. $45

18. Classify the expression -9v" — 7 and state its degree.
a. binomial, 9 c. trinomial, 9
b. binomial, 10 d. trinomial, 10

19.Employees earn $5 per hour plus $0.75 for every unit they produce per hour. Which of the following shows both an
equation in which y represents the employee's wages for producing x units per hour, and the graph of the wages
earned for producing 2, 5, 8, and 10 units per hour?

a. y=5+0775x C. y=5x+0775
y y

P wod
T
I .. o« ... ...
1. ® ... o . . . . ... ..
e oo
L >
0 X 0



b. y= 5x+075

Find the sum.

20. (EaT +3a” - ﬁ] + (—2@'3 +4 + ﬁa?]
& 8a'+a’-2
b. a" 432" -2
Simplify the expression.

21. (Sc;j +4] - (ch + 9] + [ﬁqj —g‘3]
a 11g°-3g" -5
b —3p° + 1147 -5

d y=5+075%

C. a'y8a’+2
d sz"+a®+2

Co1lg”+3g" +5
d. 11q5+3q3+5

22. Graph the linear equation 3x + fiy = 18 by finding the x- and y-intercepts.




23. Determine the slope of the line graphed below.

1 X
a. 0 b. -3 c. 1 d. undefined
3
Find the difference.
24, [55:3 RETEIN 3] - [25:3 — 3% 4 fb - 5]
& a4p* y 1124 -6k + 13 C. 11&%—4b*—Gb+3
b. 45% 4 118% + 6k - 13 d. 112%+4p®—6p-13

25, [—424 — 4zt - ﬁ] - [—ﬁz‘ —7 - 3]

a 2zt 43" -3 C. 10zt +112°+9
b. —10z* - 1127 -9 d —2z*— 3%+ 3
26. A rectangle has a length of x + 5 and a width of x — 7. Write an equation that describes the area, A, of the rectangle
in terms of x.
& g=x"-2x-35 C. A=2x-2
b. A=z"+12x-35 d. A4=12x+12

Find the product.

27. [(x+5i1x+2)

& x gy Tx4 10 C. x*—Tx+10

b. x*—7x-10 d x*4y7x-10
28. [dx+ 1dx-1)

& 16x+8x-3 C. 16x%—3ax-3

b. 16x* —8x+3 d. 16x* - 16x-3
29. (x+4)(x+T)

a x*428 C. x*4+llx+28

h. ;2 d .z

4+ 2Br+11 X+ 28x+ 28

30. (x+ 5)[x3—2x+3]

& it -Tr+1s C. x*4axt—10x+15
b, x*—2x% 415 T



31. [x+7}(x2 —dx+ 2]

& x4 ax? - 26x+ 14 C. »* 4+3x*—30x+14
b. x* 4112 - 26x+ 14 d x4 11x% - 30x+ 14

32. [ﬁy2+3y+2j(y—7j
& fyt - 307 - 19— 14 C. iy -39y —2ly- 14
b. gy — 45 — 19y + 14 d. gy® - 459% - 21y + 14

33. The equation y = % %+ 3 is graphed below. Which graph shows the result of changing the 3 in the equation to

- 17

34. Write a variable expression for the area of the rectangle.

¥ 11 1

a [(x-Dx-3 C. [x+3(x+1)
b. 3[x+1) d. (3%



A rectangular garden, with length four times its width, is to be expanded so that both sides are increased by 3
yards.

Let x represent the original width of the garden. Write an expression that models the area of the expanded garden.
a Sx+46 C. 4x*+1

b. a4x* 4+ 6x+9 d ax®415x+9

Find the product.

[5:{2—5]2

a. z5xt - 2% C. z5xt— s0xf +25
b. 25x* - 10x+ 25 d. zsx*— spx - 25
(5 + 61 50— )

a 2504 -3 C. 25:% 4 Allc— 36
b. 25:? 4 36 d. 25:% 4 6ilc + 36
(Zv+ S)(2v-5)

a4yt - 28 C. 4v® 4 20vw— 25

b. ay? 4 25 d. av? 4 20w+ 25
Find the missing term.

(x+ 9}2 =x + 18x+ .

a. 81 c. 72

b. 27 d. 90

Factor the polynomial.

x2+ Ax+ 5

a. [(x+ Lix—5 C. [x L[x+5)

b. (x=1)(x-5 d. (z=1(x+5)

The volume of a cylinder is given by the formula ¥ = sk, where r is the radius of the base of the cylinder and h
is the height of the cylinder. If the radius of the cylinder is increased by 1 unit and the height remains the same, the
ratio for the volume of the new cylinder to the volume of the original cylinder is 4:1. Find the length of the radius

42.

43.

of the original cylinder.
a. 2units
b. 1unit

Solve the equation.

16g® +40g+25=10
a. 4

5
b. 4
5

g:

Solve the equation.
x+4xt-25x-100=10
a. —4, 25

b. -5 4,5

C.
d.

3 units
4 units

~4, -5,

5



44. Graph

Solve the equation.
45. 25x° - 9=0

a 5 5 b. 3 3 C.
373 575
46. Sketch the graph of the equation y=- Ixe,
a. HE AR c.
T
L
b. : d.

i |
| \
¥ ¥

47. How would you translate the graph of y = —x* to produce the graph of y = —x* — 47

a.

b.
C.
d

translate the graph of ¥ = —x* down 4 units
translate the graph of ¥ = —x* up 4 units
translate the graph of y = —x* left 4 units
translate the graph of y = —x* right 4 units



48. Predict how the graph of the equation y=7x* will compare with the graph of the equation y = X

a.  The graph of y=7x* will open down because coefficient is positive. The graph will be
narrower because 7 is greater than 1.

b The graph of y=7x* will open up because the coefficient is positive. The graph will be
narrower because 7 is greater than 1.

C. The graph of y=7x* will open down because coefficient is positive. The graph will be
wider because 7 is greater than 1.

d. The graph of y=7x* will open up because the coefficient is positive. The graph will be
wider because 7 is greater than 1.

49. Sketch the graph of the equation y=0.75x"
[T T f |

a. i C. ] g\ : J?
/] 1\ /
\ ]
- T
i [T T
b d. \ fl]
‘\\ /I
- ! NI/ |
LN |
| W
L \
] L1

50. Sketch the graph of the equation y=- % X

a. TN LA T C.

[
]




51.

52.

53.

54.

55.

How would you change the graph of 3 = x* to produce the graph of y = x* - 5?
8. shift the graph of y = x* right 5 units

b. shift the graph of y = x* down 5 units

C.shift the graph of » = x* up 5 units

d. shift the graph of y = z* left 5 units

Graph:
y=4x:4 +5x+4

When does the equation x* = ¢ have no solutions?

a. always b. whend<O0 C. never d. whend>0
Simplify:

0 300

da. mﬁ b. mﬁ C. ﬁ d. 3@

A0 200

a. luﬁ b. Gt C. SD/\IE d. znﬁ



2

-x+ 3x -1

56.Graph the parabola: y




58.Graph the radical function y = ~/x—1 and then find the domain and range.

Domain: x = —1; Range: y =10 Domatn x 2 0, Range: y = 1
Simplify:
49
59. oo
a 7 b. 3 c. 7 d 7
50 4 100 10

60. What is the simplified form of 27 - (— Sﬁ] - 577

a. 13,\;'? b. 49 C. jﬁ d. ,\fﬁ



61.Which function matches the graph?

62.

63.

64.

65.

66.

67.

Simplify:

i
a. _2,\/10
b. 4'\/5

TR
a. 9&

1125

a. 137.5
Simplify:

76 vafe—1.d6
a. ﬁ

NEFRRNE?)
a. Eﬁ

2406 - f31 - 424
& _g.f6-0

b. 132.f10

b. 12»\1'%

b. 4,5,\11'5

b _11.f6-9-4./24

Axl= afzx-4 -4

c.
d Az = fx+d-4

o

24/5
Jau

G-l 10

95

T

A 104

—5.f24
_15406

3040

. 2715

13406

10442



68.A bridge over a stream in a garden is to be braced as shown in the figure below. The contractor determines that each of
the identical braces must be E»JE feet long.

What is the approximate total length of all 4 braces?
a. 8.5 feet b. 17.0 feet c. 24.0feet d. 9.8 feet

69. Simplify the expression -/ 200,

a. sp.f10 b. 10.fs ¢ s.f10 d 1p.s0

Solve:

70. Jx+3=-1

a. 33 c. no real number solutions
b. 33,-39 d. -39

Solve:

71, ~fx+9-9=2

a. 112 b. no solution c. —68 d. -16

72. ~fhx+4 =25
a. 207 c. 207 209
2 2 2
b. 1 d. 599
6 6

73. ~fx+T=x

a 9 b. no solution c. 9,-8 d -8

74. Graph the rational function f{x) = lel Then find its domain and range.

Domain: all real numbers except 1
Range: all real numbers except 1



Domain: all real numbers except —1
Range: all real numbers except 0

C. 3
Domain: all real numbers except —1
Range: all real numbers except 1
d. ,
Domain: all real numbers except 1
Range: all real numbers except 0
Divide:
2
75, X+5x+3
X
a x+5+E ¢ ;r2+5+E
X X
b. z+5 d x+3

76. (K +8)1=(k+2)

& k*-2k+4 C. k*+8k+4
b. r*-4 d k%44
B 3b4 3
[y
a 7 c. 449
2b_2+b—5 b_a"'f;._g
b. E:-+2+—13 d. E:-+2+_13

B-35 b-35



78.

79.

80.

81.

82.

d* 4+ 5d-5

d+3
a. o+ 2, remainder -11
b. &+ 2, remainder 11

Divide —2x* —4x— 3 by x - 2.

&t oax-12- 2L
x—2

b oz 13- 2
x=2

Divide 24x* - 9x* + 12— 27x by 3x— 5.

a. 8

ix-5
—3xfy3x-9- i
X—5

—3xt Ak -4 -

Graph flx) = -2

-1

Simplify:

—Ax+ ax°
—2dx+ 24
a. x

g
b. 2

x-x
8x—3

= W

& + 8, remainder 49
2d — 2, remainder -1

it dxo 13- L
x—2
ot dxo 124 2L
x—d

—3x2+3x—9—£
x-5

2 8
-3+ dx—d4+ ——
-5

DAL |

=



83.

84.

85.

86.

87.

88.

Find the product.

A
3 12y
a. 'y
b. 2
oY
T+4
_2 .
R
a. x+4
X+ 2
b. xr+4
(x—2)x* -4

Find the quotient.

x+4;x2—16

4-x

T o® oy
I
=
— 1|+
=

£
|
ey

Find the difference.

o+ 2 o—1
4 d
a 1
d
b. 3
d
5 9
x+3 x-3
a. —4x-42
-9
b. -4
x-3
5 —_
- 15x+56 x-7
a. 3
%% - 16x+ 63
b. -ix-3
x - 15x+ 56

12y

=
+
I=

Ny
!
Ao}

Y
L= 1|
5 Ia

¥ -a
—Adx—42
X+ 3

—2x+ 21
x* - 15x+ 56
—Ix- 11
x* = 15x+ 56



Find the sum.

4 3
89. x40  x—9
a. 7 C. 7
x+9 x* - 81
b. TFx-19 d Tx-9
x* - 81 7
. . 21 . . .
90. The production rate of a small factory is modeled by % while the production rate of another factory is
modeled by % Which is a model for the combined production rate of the two factories?
a. x+21 C. 10x+37
Ox+ 16 2xix+ 5
b. 10x+37 d gz 437
22" + 10 2x* + 10

Solve the equation:

x—-8 x+a8
1. x-3 x-2
a. 36 c. 12
13
b. 12 d. 4
13
1 3
92. w+3 w-2
a1 c. 1
2 4
b. 7 d. none of these
2
Solve the equation and check your answer.
x fi x*
93. + =
x=8  x-4 P iix+32
a. 20 b. 8 c. 24 d. 27
94, —= ! 1

x40 R
a. -8 b. 7 c. 8 d. no solution

Short answer:

95. Expand the following (x — 5)°



96. Graph the following:

~2+1

a. f(x) = x| b. f(x) = |x
10r 10

sl 8

Bl B

af 4

2| 2

A0 6 6 4 2 [ 2 4 6 810 A0 -6 B 4 2
2t 2

_4: -4

ol 5

al 5

ol 10

97. Graph the following:

2.4 B 810

a. f(x)=x° b. f(x) =x*-1
10r 10r
sl sl
Bl Bl
af af
06 6 4 2 | 2 46 810 06 6 4 2 | 2 46 810
_2— _2_
4l al
ol ol
af of
ok ok

98. Factor the following:
a. 8x°—16x%+ 32x — 64

b. x3+ 3x%+9x + 27

c. f(x) =3Jx|
100
8:
E:
4:
2:
A0 8 6 42 [ 2 4 6 B.D
A
ine
&l
al
ol

c. fx)= x*+3

10

(S 5]

2.4 B 810






